Multivariable Calculus

Math 53, Discussion Section

1. Compute!

! t
a)/o (1+2t)2dt

d) / sin? t cos? tdt
0

z
m)/ t2 cos tdt
0
1
1
—dt
p)/0 T
1
s)/ V2t — t2dt
0

1
v) / 5/ 1 + t2dt
0

/3

2

z 1
—dt
) /l t3vV1 + 4¢?

(SE]

b) / sin 2t cos 3tdt
0

(M)

e) / sin® 2t cos? 2tdt
0

3
1
h —dt
) /1 tvV1+41t

bl
k) / €%t cos 4tdt
0

1
n) / t arcsin tdt
0

701 p
t
x /0 cos? ¢

2
t) / /4t — t2dt
0

(SE]

c) / sin® tdt
0
51

f) / —dt
o cost

i) /01(4—152)3(175

) / 2 Intdt
1

1

2
0) / t arccos 2tdt
0

1
1
r —dt
) /0 V2412

3. /6F _ 42
u)/ydt
0

2v3 1
X ——dt
) /2 t2v/4 4+ t?



